EARAROBEEIERT — 2 N— IBISH —F

2016564208 (B) SEIARE1H

R Xl

Z 187HRL245AKE

‘ [Riz] & ‘ [REBE] — | & (%) 1600M THE

[A&E£] 17 :1,200,000  ~ 23 :360,000 37&:216,000 3

4 75 144,000 B 5 3& :120,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— — N AHIEE 145, —6—4— . - HlES (HE)
1 3 TFJAMT—H "3 56.0 1(15—))7 66-4=3 | 40.9 1 <5+786) EHER "
R:iT—UT4—Z BALT4AbT—4 BT 7 — L
o= N > 3| EBH= 1:46.1 2-2-2-2 |41.9| — 5 474 | HREA (A048)
2(5/5 T2 A > - 56.0 ©) (-q) | SEAL
R:TZR7 48— B:Zyb=—F14F7> JA-U—T7—L
sa o . FHEE : -1-1- — 12K (fAHE)
3lz] 7| K> F—n—x it 3 i 1.(436).7 1-1-1-1 | 42.5 2 ;1_239) el
x>y /%% B:drYUa— L HR
FE #4251 : -5-5- — HEZFEER (HAHE)
al1lq|rnazq A L/ B R |y |mEREF
LAV T1v 7 B:o0LN—b BT 7 — L
N 43 | LUAEAE 1:49.5 3-3-5-6 |44.4| — 4 404 | EBEEZ (A18)
N BERL 54.0 © o |ERE
R:TX)ALKRZ B:idqa o hT—I BEKT7— L
S S AlGER :50. ~4-3~ . — EEEZ (hiE)
6 2 H—X hr7OYA # 3 a (12510/20) 5-4-3-4 | 45.6 3 (ﬁ;) =
R:TSv08%5—F B:TS5909qyF EE BT
. # 3 | EEEER - - | | = - | EHBE B
*% 6 TIVEHINILZA 56.0ﬁ (BUH) (—) M-Kenichikx—IFqs>2¥ (
LN=v7354 B:T77rRUFKRyD ERHS
@ 1 — S —EBIEf
13=7r= 7,5,4,1,2,3
2a|=7r= 7,5,4,2,1,3
Jol=5r= 7,5,2,3,(1,4)
40—+ — 7,5,3,2,1,4
[ N3
BB 3 1604 714K 3-5 410 B = 3-5 1,180 3EHE 3-5-7 920M
8 B 3 1609 3-7 120H B H Hg0 1,820/ K31 3-5-7 4,610
5 490H 5-7 470

ABICOVWTRDTEEERROODE. TR LIV,




